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Analysis Honors 24/25 NO CALCULATORS Q
Friedland / Hlasek/ Tantod “Poiod B il
Unit 2 (AtPS) Quiz 30 points
Odd Number Triangle (Reminder: In the Odd Number Triangle, the row with [3 5] is the 2" row.)
1. Write “true” or “false” for each statement. (1 pt each) 4 ' ¢
a) The top n rows of the Odd Number Triangle include exactly 2®7Y terms. Fa.,‘;a/ s/ P 2
b) The sum of all the terms in row n of the Odd Number Triangle is n. Teve. ¥
¢) The last term in row n of the Odd Number Triangle is n? + n — 1. Tyrve—
2. Which row of the Odd Number Triangle includes the n?gl‘);,r 1‘95‘7 Explain your answer. (2 pts)
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Pascal’s Triangle (Reminder: In Pascal’s Triangle, the row w1th 12 1] is the 2™ row.)
B Complete all four blanks in the following row of Pascal’s Triangle given that 11% = 214358881. (2 pts)
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4. Simplify the expression below into a single term. (2 pts) £ 6y .S‘ 5 Zo
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5. Simplify the expression below into a single binomial coefficient. (2 pts)
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Fibonacci Numbers  (Reminder: Fy, = 0, F; = 5) Fn o aN,_ gl " =
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7. Find a positive integer m that satisfies the following identity. Show all your work. (Bpt { '
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Sequences and Series

8. Consider geometric sequence {a,} such that a; = 500 and ag = —32. o
a) Find the common ratio r of this geometric sequence. Give an exact completely simplified answer. (3 pts)
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b) Find the sum a; + a; + -+ 10
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9. Find a positive integer N that satisfies the following identity. S‘lﬁlg\;éfg‘ebraic worlf_ to receive
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The Fun Problem! © " Z )
10. In the triangle below, number 8 is the 1% term on the 2™ row.
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a) Find the last term on the 7" row. (1pt)
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ind the sum of the 8" row. Show all your work. Using brute force

full credit. (3 pts)
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_/receive no credit. Give your answer as a single number. (2 pts) 2L ; \/
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x‘\ ¢) Find the explicit formula for the last term in n™ row in terms of 7. Show all your work. (3 pts)
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q=Fa+b= S5atb=2a* 2atb
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